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CBA Practice model answers

Personal Tax (PTX) – FA2012
PTX Practice Test – FA 2012
Section 1

Task 1.1
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Task 1.2
[image: image2.png]‘Show whether each of the following statements is true or false.

Itis the responsbility ofthe tax practitioner to ensure that al his clients receive the right tax retun from HMRC.





Task 1.3
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Task 1.4

[image: image4.png]‘Simon had two temporary jobs during 2012113, His income from his two employments showed:

1 January 2012 to 30 June 2012

14,400)

100

14 ay 2012

1 0ctober 2012 to 30 April 2013

16,800)

200)

28 April 2013]

Salary from ALtG 3600
Salary from BLtd 8400
Total bonus 100

Complete the following table to show Simon's taxable income for 2012/43.




Task 1.5

[image: image5.png]‘Simon had the use of two company cars during 2012113 The company paid all running costs, including all
private fuel. Simon paid £300 per month to the company for the private use of the cars.

Details ofthe cars showed:

Nissan |6April20121030June 2012 | 22400 21,000 194gkm| Petrol

Audi 1.July 201210 5 April 2013 25900 22300 142gkm|  Diesel

Complete the following table to show Simon's taxable benefitin kind for the cars for 2012/13.

‘Scale charge
percentage
Taxable benefiton
provision ofthe car
Taxable benefiton
provision ofthe fuel
a ‘Scale charge
percentage
Taxable benefiton
provision ofthe car
Taxable benefiton
provision ofthe fuel

724]

Totaltaxable benefit





Task 1.6
[image: image6.png]Tick to show the correct answer in relation to benefits in kind.
Harry was provided with a flat by his employer, which was not job related. The flat has an annual value of
£7,000 and the employer pays £650 per month n rent Harry pays his employer £300 per month in
‘contribution towards the private use of the flat.

Whatis Harry's taxable benefit for 2012/13, assuming he occupied this flat throughout the year?

£7,000

£3400

27,800

‘Sheila s provided with a home cinema system which cost her employer £8,000.
Itis only usedfor private usage.

Whatis Sheila's taxable benefitfor 2012/13, assuming she had use of the system throughout the year?

28,000

£1,600





Task 1.6, continued
[image: image7.png]‘An employer owns several houses and flats that difierent employees are allowed to use. None of the
employees uses the properties for job related purposes. Below is some information about these properties.

Tick to show if these statements are true or faise.

e
et s o e oy st

e
o st ot ' s s s s s

Accommodation would be treated s being job related fitis necessary for the
employee toive there in orderto carry out their employment duties

Accommodation that s treated as job related s still taxable, but at a reduced rate
of 4% of the marketvalue.

provided.

Iffurniture is also provided, the full cost of that furniture is taxable in the yearitis. .
v

fthe employer pays £2,500 per year for the cost of cleaning, the employee will e
taxed on the full £2,500.





Task 1.7
[image: image8.png]‘An employer provides the following list of benefits to various employees, all of whom have an annual salary

over £25,000.

Tick to show if these benefits would be taxable or non taxable.

Loan of £4,000 which is interest free

Christmas staff party costing £120 per head

Provision of a second mobile phone.

Long service award of a clock costing £500 for 18 years' senvice





Task 1.8
[image: image9.png]An employee has an annual salary of £18,500 andis a trainee accountant.
Below s a st of expenses that he incurs during 2012113,

Tick to show whether o not these expenses would be allowable deductions from his employment income.

Annual subscription to AT for professional membership.

Insurance on his car that he uses for driving to work

Contribution of 4% of his annual salary into the occupational pension
scheme

240 per month paid under the payroll giving scheme

[SJIS





Task 1.9

[image: image10.png](a) Complete the table below to show the amount of income that would be included in a tax return for
201213,

‘Amount in tax

come Amount received

[
Building society nterest 112 140
NSl bank interest 136 136
Bankinterest 288 380

{b) Tick to show if the following statement s true or false.

Gitts are received gross.

True

False





Task 1.10
[image: image11.png]Two taxpayers each receive £1,000 gross from dividends. Below are the details showing their other total
income, net of personal allowances

Calculate the total tax paid on their dividends.

Netincome  Tax payable





Task 1.11
[image: image12.png]‘Show whether each of the following is true or faise.

Alltaxpayers, imespective of age, can investin an ISA

The maximum amountthat can be invested in shares in an ISAin 2012113 is £11,280.

e

False





Task 1.12
[image: image13.png]Watthew is 77 and during 2012113, he received a pension of £28,200 and dividends of £414.

Calculate his total income tax liability for 2012/13, entering your workings into the blank table below.
You have been given more space than you will need.

H
Pension 28,200
Dividends 480
28,660
Personal allowance
(28,660 - 25,400)2 = 1630
10,860- 1,630 = 9,030
19,630
(28.200-9,030)x20% 3834
460X 10% a8
3,880





Task 1.13

[image: image14.png]“The total tax liabiliies for Sarah for the last three years have been agreed at:

Taxyear B
201011 8700
201112 10250
2012113 14090

‘She knows she needs to pay by instalments, butis unclear what she needs to pay and when.

(a) Complete the table below to show Sarah what she needs to pay on each of the dates listed.

31January2013 | (10,250 -8.700) + (10,250/2) 6,675
3100y 2013 102502 5,125
31January2014 | (14,090 - 10,250) + (14,090/2) 10:885|

3100y 2014 14,0002 7,045





Task 1.13, continued
[image: image15.png](b) Briefly explain to Sarah what payments interest would be calculated on, and how interest would be
‘worked out by HMRC if she were to pay her tax late.

[Interest is payable on payments on accounts.
Interest s payable on balancing payments.
Interest s payable from the day the taxis due untilthe day before the actual date of payment.





Task 1.14

[image: image16.png]Complete an Employment page for each employment or directorship

1] Pay from this employment - the total from your P45 or P60 5| Your employer's name
- before tax was taken off

£ 69,750I . E 0

2 UK taxtaken off payin box} 6] If you were a company director, put X in the box
E 15.980]. [0 ][0

| 3] Tips and other payments not on your P60 - read page EN.3 71 and if the company was a close company, put X in the box
of the notes -

] ] -[0]o

PAYE tax reference of your employer (on your PA5/P60)

If youare a part-time teacher in England or Wales and
e are on the Repayment of Teachers' Loans Scheme for this
/ [ employment, put X in the box






Task 1.14 [image: image17.png]Benefits from your employment - use your form P11D (or equivalent information)

9| Company cars and vans - the total tash 13| Goods and other assets provided by your employer
equivalent' amount - the total value or amount
£ :[0]0 £ -[o]0
10| Fuel for company cars and vans - the total cash 14| Accommodation provided by your employer - the total
equivalent' amount value or amount
£ b @ 0 £ 3450]-|0| 0
11| Private medical and dental insurance - the total 15 Other benefits including interest-free and low interest
‘cash equivalent’ amount loans) - the total cash equivalent' amount
£ :[0]0 £ 190]. [0 [0
cards and excess mileage allowance 16| Expenses payments received and balancing charges
950]- [0 ][0 £ -[o][o





[image: image18.png]Employment expenses

17| Business travel and subsistence expenses

E

o]

18] Fixed deductions for expenses

E

]

19 Professional fees and subscriptions

20

£

280].

Othe

er expenses and capital allowances





Section 2

Task 2.1
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Task 2.2
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Edmund has two unfurished properties which he rents out.

Task 1.1

FlatAis rented out at £800 per calendar month. It was occupied for the whole of 2012113,

FlatBis rented out at £700 per calendar month. Itwas rented out until 30 June 2012 when the tenant moved

out. Edmund did not get another tenant until 1 December 2012 but the new tenant paid six months’ rentin

avvance.

For both properties, Edmund used a letting agent who charged fees of 8% of the rental income. Edmund also

paidinsurance of £340 on Flat A and £410 on Flat B.

Calculate the profit for each property by completing the table below. Do not use brackets or minus signs.

Ifyour answer is zero, please inputa "0".

Letting agents fees 768 302
Insurance 340 410
Proft 8492 4008
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Task 2.3
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Task 2.4
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Task 2.5
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Task 2.6

[image: image24.png]Jermaine bought 200 shares in Honest Lid in hay 2000 for £6,760. In January 2004, he sold 50 shares for
£1,880. On 19 November 2012, he sold 100 shares for £4,200. On 30 November 2012, he bought 75 shares

for £3,000.

Clearly showing the balance of shares and their value to carry forward, calculate the gain made on the

sale of the shares for 2012/13. All workings must be shown in your calculations.

Number of shares Cost
B

IWay 2000 200 6.760

Panuary 2004 50 1690
50 5070

[November 2012 25| 845|
25| 4225

[November 2012

[Proceeds 4200

[Cost

2,000 +845) 3845

[Gain 385






Task 2.7
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Task 2.8
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Task 2.9
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